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Polynomial Equations

A polynomial equation is one in which:

· There are many (poly) terms (nomials)

· There is only one variable (x or y or z or some other letter)

· The variable appears in varying degrees (squared, cubed, etc)

For this chapter, polynomial equations can be solved either by:

· Simple factoring, all terms have a power of the variable.

· Grouping and finding common factors.

Fractional Equations

Multiply every term by the lowest common denominator in order to clear the fractions, then solve for x.

Radical Equations

If there is only one term with a radical:

1. Isolate the radical

2. Square both sides

3. Solve for x

If there are two radicals:

1. Isolate one radical.

2. Square both sides

3. Isolate the remaining radical

4. Square both sides.

5. Solve for x.

Quadratic Type Equations

These can be trickier to identify. Basically, ignore the coefficients for a moment and see if one term is the square of another, and the third term is a constant.

Simple example:
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Ignoring the 3 and the 5 for the moment, the first term, 
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. The third term is a constant.

Quadratic Type Equations


Simple example (cont):

We can solve this with the quadratic formula by replacing x with x2:
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Complex example:
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Ignoring the 3 and the 5 for the moment, the first term – 
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, and the third term is a constant.

We can solve this with the quadratic formula by replacing x with 
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Fractional Exponents

The trick to these is to factor out the smallest exponent from all terms:
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	Original Equation
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	Smallest exponent is 
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	Factor the quadratic

	4. 
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	Set each factor to 0 and solve for x. Note: there is no value for x that, when raised to a rational exponent, will equal 0.
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